Eco 504.2 Spring 2002 Lars Svensson and Chris Sims

FINAL EXAM ANSWERS

(3) (45 points) Consider an overlapping generations model with constant population and a lin-
ear investment technology with gross rate of ret@tn The constraints for an agent in
generatiort are

Cit) +S+B+1t=Y (1)
Co(t+1) = 0S +RBi + w41 (2)
§>0, B >0, )

whereC; (t) andCy(t + 1) are, respectively, consumption in the first and second periods of
life by an agent born at, § is real savingsB; is government bonds acquired in the first
period of life by generatiob, R; is the interest rate on government bonds issudd mtis

a per capita lump sum tax on the yound,aandcwy . 1 is the per capita lump sum transfer
to the old att + 1. The utility function of each generation Ieg(Cy(t)Co(t +1)). The
government budget constraint is

B+t =R_-1B-1+w. (4)

(@) (12 points) Consider an equilibrium in which there is a “pay-as-you-go” government
retirement plan, so th&; = 0 andt; = T = w. Show that if6 > 1, in a steady state
equilibrium whereC; andC, are each constant across generations, both steady state
Sand utility are decreasing functions of at least over some range of values for
Show in particular that equilibrium without pay-as-you-go retirement, i.e. withO,
delivers higher utility than any equilibrium with> 0.

The FOC's are:

. 1 J—
0Cy: O A1(t) (A3.1)
. 1 J—
oS A1(t) = OEA2(t+1) (if S >0) (A3.3)
0B: A1(t) = REA(t+ 1) (if B > 0), (A3.4)
which can be reduced, in this model with no uncertainty, to
Co(t+1) .
C) ¢ (if§ >0) (A3.5)
Co(t+1) :
O R (if By > 0). (A3.6)

Using the FOC's, the private budget constraints, and the assumpticasw = T,
B: = 0, we can solve to obtain

(7 (1-2)7). war

Ci(t) =

NI
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This is the usual result with log utility that first period consumption is half the present
value of total endowment. Though the transfer from the government when old is equal
to the tax revenue extracted when young, because the transfer comes later-ahd

it has lower present value. Hence the budget constraint of the private agent, in terms
of Cy(t) andCy(t + 1), shifts inward asr increases. Since the relationship is linear,
steady state welfare is clearly higher with= 0 than with any positive value aft

(b) (5 points) Show that this conclusion does not hol@ & 1, and explain why.

The coefficient orr in (A3.7) switches sign whef drops below 1, so in this
case increasing shifts the budget constraint out and increases welfare. Increasing
T reduces the need for retirement savings. WHen 0, the total resources in any
period in steady state are higher, the higher is steady state savings. But@vhe
with constant population, we are in a situation of dynamic inefficiency. Because saved
resources dissipate rather than grow, total resources per period in steady state are
higher when there is no steady state savings.

(c) (7 points) Show that if at some particular date policy unexpectedly changes from pay-
as-you-go, witht > 0, to autarky, witht = 0 and still B; = 0, not all generations
benefit. Who gains and who loses?

The short answer: Those old at the date of the policy switch lose, because they do
not get their expected retirement benefits, and everyone thereafter goes to the autarky
solution, which is better (assumiry> 1). If 6 < 1 everyone loses: The current old
lose their expected retirement benefits, and everyone thereafter goes to the autarky
solution, which in this case is worse.

(d) (7 points) How would your answer to (3c) change if the switch in policy were antici-

pated one period in advance?
If they know the change is coming when they are young, those who will be old at

the time of the switch will recognize &t— 1 (if T is the switch date) that their budget
set is smaller and will therefore save more than they otherwise would have. This will
reduce the impact on their utility of the switch in policy. This will have no effect on
those old aflT — 1, because they will still be consuming their transfer payments plus
their storage, neither of which changes.

(e) (14 points) Consider instead an unanticipated swit¢h-a0 from pay-as-you-go with
0 > 1 andS > 0to no retirement benefits, with the transition debt-financed. That is, a
switch fromw =7 =1 fort <Otow =0fort >0, withwp =1, it = 7* fort > 0, and
wo = Bo+ 1F. We assume that* is set so that the government budget constr@ihnt
delivers constar; = B for allt > 0. Who gains and loses under this policy switch?

The really quick answer to this question, which either nobody saw or nobody had

the courage to rely on, is this: So long &s- 0 and agents are faced withas the rate
of return on savings, which matches the actual rate at which resources can be moved
between periods, the equilibrium is efficient. That means no generation can be made
better off without making another worse off. Since in this part's scenario the old at
the switch date have the same welfare as before, and since all generations after that
have the same welfare (facing the same pattern of taxes and the same rate of return on
saving), everyone must have the same welfare.
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A more constructive answer: Since the old at 0 get exactly their anticipated
transfer payment, their welfare is unaffected by the switch. The discounted present
value of endowments for the young as Y — 7*. Assuming that we hav® > 0 after
the switch, we will hav&® = 6. The constancy of the debt then implies

Bo = QBO — 7" s (A38)
which together with the problem’s assumption tBati- 7* = T implies
1\ —
" = (1— 9> T. (A3.9)

But since the return on savings & before and after the switch, this just says that
the position of the budget setexactly the saméefore and after the switch. Before,
the agent perceives a tax when young and a transfer when old, with present value
(1-1/6)t. After the switch, the agent sees only a much smaller tax when young, but
this smaller tax has a current value equal to the present value of the old tax-transfer
pair. Thus the consumption choices will be the same before and after the switch. The
debt-financed policy change has no effect on consumption, welfare, or real savings at
any date.

It is perhaps worth noting, though it's not part of the answer to this question, that
if taxes were distorting instead of lump-sum, there would be an efficiency-increasing
effect of the switch, because tax rates on the young would be lower.

(4) (45 points) Suppose an economy has a Phillips curve of the form
U =UuU—a(m—7)+&
and a policy authority that maximizes
1 o]
—SE|Y BY(W+67%)
2 [%

Suppose thafg, the public’s subjectively expected inflation, is formed by the simple adap-
tive rule 7§ = 1_1.

(a) (10 points) Find first order conditions for an optimum in the government’s planning
problem, assuming the government chooses at eact Oate g anduy; knowing the
history of all variables up to timg is subject to the Phillips curve as a constraint, and
rationally takes account of the effects of its current actions on the public’s expectations
of future inflation.

The Euler equations are:

orT 0% = Ay — BaEiAi11 (A4.1)
ou: U = At (A4.2)
which give us, after eliminating, the two-equation system, in matrix notation,
a 1l||m| |a O 1 0

The TVCis
limsupB'E[(au — 67%)d7g] < 0. (A4.4)

t—o0
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The conditions in the notes for the application of the standard TVC are not met here,
because the constraints are equality constraints and because the choice variables are
not constrained to be always positive. If we separate the equality constraint into two
inequalities with separate, always positive multipliers, we still end up (#th4). But

the “dm” terms require careful consideration, because they are not naturally bounded
and could have any sign.

(b) (10 points)Here and in all the parts of this question below, assimea =1, 3 = .9.
Show that the Euler equations and constraint have a unique non-explosive solution.
[This will involve finding the roots of a quadratic equation. One-decimal-place accu-
racy is enough.] Show the solution far andu; as functions of laggedr andu and
currente.
The matrix approach to solving this starts by finding the eigenvectors of

-1
a 1 a O 119 -1
0 B |[-6 a}:_g{—l 1}:'“’ (A4.5)

where the two matrices on the left are fr¢A®.3). This boils down to finding the roots
of the quadratic equatioft — 2.9A + .92, which are2.83 and.393 To suppress the
unstable root of 2.83, we must have

[1 X {Zﬂ — constant (A4.6)

where[1x] is the left eigenvector oA corresponding to the unstable root. We can
find x (among other ways) by solving the linear equatib@ — x = .9-2.83, to get

X = —.647. This stability condition then together with the original Phillips Curve
constraint becomes

T§ — .647u+ .647rF — .6471%_1 — .6475 = constant
1§ = constantt .3975_1 + .39¢ . (A4.7)

The Phillips curve itself tells us that in a stable solution (where the unconditional
expectationErg is constant),Eu = u. Then the Euler equations tell us thatg =
(a/8)(1— B)u, and thus that the constant term (A4.7) is .10-.61= .061u. The
solution ofu; can then be read off by substituting the right-hand sidéAef.7) into the
Phillips Curve.

This part could also be answered by substituting the Phillips curve into the first
order condition to obtain a single second-order difference equatiorg,invhich has
the same stable and unstable root as that we solved above.

(c) (5 points) Explain why the explosive solutions to the system are not optima. [A direct
argument that they don’t produce good values of the objective is probably easier than
relying on formal transversality here.]

On an unstable path at least onewfand 7 has to grow exponentially & 83,
eventually. Because the objective function is discounted on&f aand because it
is a sum of squares, it is easily seen to be minus infinity along any such path. Since
we know that a stationary solution delivering bounded losses is possible, it is clear
that the explosive solutions can’t be optimal. An argument based on transversality
is possible. Because we have used only sufficiency of transversality, we need here to
show that the TVC for the stable solution to the Euler equations is satisfied, which
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guarantees that it is the optimum. The stationary solution makes the coefficidn on

in the TVC positive, at least most of the time. A positive, exponentially groming

is certainly technically feasible according to the problem statement. So we have to go
further and check whether the Euler equations and constraint could be satisfied on such
an upwardly explosive path fog. From the Phillips curve, we see that exponentially
upward explosion inT implies exponentially downward explosion, at the same rate,
in u. But the Euler equation implies that upward explosiommihas to be associated

with upward explosion iu. Thus the two cannot be satisfied simultaneously on an
upwardly explosive path far, and the TVC is indeed satisfied for the stable solution.

(d) (7 points) Suppose instead that policy makers change every period, and that each new

policy maker at takes7g as given, ignoring the effect of her choice on futurers.
What is the resulting behavior @f andu as a function of lagged andu and current
£?

This just yields the familiar no-commitment solution. Hu& ; term disappears
from (A4.1) and leads to the solution = %(J—I— U1+ &), TE = U.

(e) (7 points) Suppose now that the policy authority (mistakenly) believes the public to be

(f)

rational, so that she solves for optimal policy assunting E;_17%, here again taking
full account of current actions on future expectations. What is the resulting behavior
of rrandu as a function of lagged andu and currene?

This is the familiar commitment policy rule, though its consequences here are
different because expectations are not in fact rational. The solution follows exactly the
Lecture 10 notes to arrive at (in periods other than the first)

O{Et
- 6+a?
0
0+a2’
whereg; is the shock to the natural rates perceived by this policy maker with the false
model Since the policy-maker assumes, based on this solutionfggha, we get

U = U+

& = ut —u+arg
Tg = ( —u). (A4.8)
Combining this last policy rule forr in terms of observable variables with the true
Phillips curve, we get
2
a a
& . A4.9
6+a2 1T g a2 (A4.9)
The corresponding solution fag follows by substitution int¢A4.8).

g =

(6 points) For each of the three policies you have computed, calculate the period loss
functionu? 4- 87 in the deterministic steady state (where: 0 and bothrr andu have

settled down to constant values). Show that these steady state losses are smallest for
the last policy, that mistakenly assumes a rational public. Does this show that a false
assumption that the public is rational can lead to better policy? If so, discuss why this
is so; if not, explain why not.
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When there are no shocks, in steady state- 7_; and & = 0, sous = u and
losses are just? + 12, whereTT is the steady state value af The last, “mistaken
commitment” policy just set& = 0 and results in losses in steady stateldf The
no-commitment policy results im= au/6, while the optimal policy results im =
(1—-pB)au/6. With 3 € (0,1), the optimal policy clearly delivers steady state losses in
between the other two policies, with the mistaken commitment policy giving the lowest
steady state losses. The optimal policy delivers a better discounted loss function, how-
ever. The optimal policy does not move all the way to zero inflation, because the future
gains from being at zero inflation are small when inflation is small, and do not out-
weigh the current costs, in terms of higher unemployment, of lowering inflation. If the
“commitment” solution were actually implemented in this economy at some particular
date, the losses would be very high, because the commitment solution involves high
initial inflation. This looks attractive in the commitment solution because that (false)
model assumes that the initial inflation has no consequences for future expectations.
Since in this economy high initial inflation leads to high expected inflation next period,
the initial gains from the first-period surprise inflation will be almost entirely offset
by a loss the next period, when the decline in inflation to zero (or near zeye40)
creates a surprise (to the public) deflation.

(5) (45 points)Short answers.

(a) (11 points) Explain why, in a wide range of dynamic models, if the rate of tax on capital
is constant, the derivative of steady state utility with respect to the capital tax rate is
less than zero, even evaluated at the point where the tax rate is zero. Also explain why
this is not true of, say, a constant tax on labor. Does this imply that when a given level
of expenditure must be financed, only distorting taxes are available, but all tax rates
must be held constant, the optimal capital tax rate will be zero? Why or why not?

The effect of a labor tax is to lower consumption and increase leisure in steady
state. In the neighborhood of a zero tax, the tradeoff is compensating, so that the
increased leisure offsets the decreased consumption. There is no effect on the equilib-
rium capital/output or capital/labor ratios, because the equilibrium condition that the
marginal product of capital equal the inverse of the discount factor is unaffected. The
effect of a capital tax is to lower equilibrium steady st&t&. and increase the mar-
ginal product of capital. This lowers steady state consumption even when labor supply
is inelastic, as we showed in class, and by more than is compensated for by increased
leisure when labor supply is elastic. On the other hand, in the neighborhood of a zero
capital tax, the effect on discounted utility of going to a small, perpetual positive cap-
ital tax is zero to first order. It will decrease future utility, but by encouraging current
consumption, will create a matching current utility gain. Thus a consatax, like a
constantL tax, has zero-to-first-order effects on utility, and one would expect that with
taxes constrained to be constant, it will be optimal to have both non-zero.

(b) (11 points) For most advanced economies it has been true for some years that direct
measures of arbitrage opportunities across government bond markets in different coun-
tries imply that flows of funds between countries’ bond markets are essentially costless.
Assuming that countries had complete and perfect internal asset markets and product
markets, would the fact that funds flow freely across international bond markets imply
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that capital markets should produce optimal international risk sharing? Why or why
not?

As we saw in classroom discussion and an exercise, international capital flows
via the bond market only generally do not suffice to produce perfect risk sharing. They
allow for consumption smoothing, but not for sharing of country-level risk.

(c) (11 points) Neither Barro’s original analysis of optimal debt policy nor the analysis
in our classroom extension of it along the lines of the “Fiscal Consequences for Mex-
ico...” model takes any account of the implications of sticky prices. If prices were
sticky, along the lines of a Dixit-Stiglitz/Calvo model of stickiness, Barro’s conclusion
that taxes should be a random walk would still be a good approximation, while the
conclusion of our classroom model that taxes should be constant would break down.
Do you agree or disagree? Why or why not?

Barro’s model is (except in a brief section at the end of his paper) entirely in real
terms. Its conclusions therefore hold even if prices are constant, so long as its assump-
tion of a quadratic deadweight loss from taxation is correct. A really good answer (no
actual answer was this good) might have pointed out that Barro’s argument depends
on the marginal deadweight loss being a function of the tax rate alone. Cyclical fluctu-
ations in the tax base or in other sources of distortion in the economy (of which sticky
prices are one) could undermine the simple version of Barro’s conclusion. But this
gualification aside, Barro’s argument for random walk tax rates does not depend on
whether stickiness is present.

The argument for constant or near-constant tax rates, on the other hand, depends
on having a way to collect lump-sum, non-distorting taxes as responses to fiscal shocks.
The “Mexico” model shows that this can be done with a very simple monetary policy
if prices are flexible. But if they are not flexible, relying on surprise deflation and
inflation to adjust the size of the real debt would have real costs.

(d) (11 points) Modern Keynesian sticky price models are usually constructed to deliver
the conclusion that expansionary monetary policy delivers a temporary increase in out-
put and employment. In the model of “neutral stickiness” we discussed in class, prices
are sticky, but expansionary monetary policy has no real effects. That model assumes
that workers are identical and own the representative firm and that risk sharing is per-
fect. If we relaxed these restrictive assumptions, would the model deliver the usual
Keynesian conclusions? Why or why not?

The neutral stickiness model depends on its labor contracts being treated like
bonds. Inflation and deflation surprises change contract values ex post, but don'’t af-
fect the real costs to firms or returns to workers of increased labor effort at the margin.
That is determined in the market for current labor contracts. This basic result does
not depend on perfect risk-sharing or on workers owning the firm. Dropping those
assumptions would give inflation and deflation real effects, but they would be distribu-
tional, and there is no particular argument that these real effects would make inflation
expansionary. The expansionary effects in standard stickiness models arise from the
fact that firms with low prices expand output to meet demand — the sticky prices reflect
actual marginal costs somewhere in the economy.

(e) (1 point) You don’t have to work for this point; it's free.



